Q A= &2 7|8 EH06-332)
:'

- o577k 14 062 17 06A| ~ 06 182 06A
SFET|AH (§27|7Fk 2024H 063 17 06A| ~ 06& 18 06A|)
242l 2 5|2t

[20244 06E 17 O6A| 2HE ]

Ot
g
=
o
g
bt
ox
=

CRIF YYD o7 YO Y, YR BY YR BHULT &

nlo

> X3 B 71N g
O #THO6A)), H 3 BH0| CHZ 7Lt 75 BB, APHE £0H38 25km, 1 9 &3 & 7~10km 0|4 ILck

Si4S RILKs 7IYBOl YOR 32|11 30 74 ook HI7t Lj2ISLIC

O (EHESY) 2= 22(L2A~15A)0]| 2= BH2E7t50% o|g2 2 2 GLIC
O (=5 25 MYFH & AL0|of 530 BoS= 10kt X[CH=7tE 4 25kt Q|2 of7t Aot 22 L L
O (FAEE) UL Mol AZ0[ 3km O[otz FHOHE W7t A S LI

O (Etsd) 2= A [~12A)0 2532 EHR2E7}50E O|¢e 2 FSLCL

O @517 LAY Mol ai4ol $Ixet 17|90] Yoo = M= BYO| X2 AAOLL 05 HFSHS HFE

O (YT Q5T LY Me0] BES4 15kt Lie|, ACHE7HES 25~30kte] 247 28k BH2tt S4XI2 Qg FHB0| of gL

o ooo

Ch 25 & SQH11~18A]) 2F2 ﬁE%E7f S0= olge= wZGLICE

O HaAR
X B, T, HE, B THAT, A, @50 7|M0|HE SE7|AH F2| F(https//amokmagok) &
S O 4Al HE AMHIA)0A] HRlstA 7| BT

M@




